NIFT 2006

Fashion Mgmt. (PG) Held on 12.02.2006

Directions (Question 1-3) : Find the value of
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Directions (Question 4 - 8) : Study the following information to answer these questions:

Following are the criteria for allotment of cabins in an organization. The cabins have the following three
features :

(1 Air-Conditioned (AC)

(i) Independent

(iii) With Ante-Room

The following criteria are followed:




Q) For being entitled to any type of cabin an employee must have completed at least 10 years of
service in the organization.
2 His basic salary should be above 4,000.

3) If the employee is holding the position of Senior Manager, for the last 5 years, he should be
provided with an independent, AC cabin.

4) if the employee has been in the position of Manager for the last 5 years, he should be provided
with an independent cabin.

(5) if the employee is in the position of Branch Manager of Senior Manager, he should be provided
with an Independent, AC cabin with ante-room.

(6) An employee has not completed 10 years of service but has at least 7 years of service and is in the
position of Branch Manager, he should be provided with an Independent cabin.

@) Am employee has been Manager for less then 5 years but has completed 15 years in the

organization, he should be provided with Independent cabin.
The following cased are given to you as on 01.04.2003. Based on the above criteria, decide about
the allotment of cabin. You are not to assume anything.

Mark the answer as

@ if cabin is not to be provided.
(b) if independent cabin is to be provided.
(© if independent, AC cabin is to be provided.
(d) if independent, AC cabin with Ante-Room is to be provided.

4, Sudhir Gopal joined the organization in 1985. His basic salary is Rs. 8,200. Last year he was
promoted as Senior Manager.

5. Rajan Khuana joind the organization in 1985. His basic salary is Rs. 8,200. At present he is
Branch Manager.

6. Mukesh Majeshwari joined the organization in 1991 on the basic salary of Rs. 4,200. Last year he
was promoted as Senior Manager.

7. Ashok Taneja joined the organization in 1989. He was promoted as Senior Manager in 1998. His
basic salary is Rs. 6,700.

8. Sanjeev Rana joined the organization in 1994. He is holding the position of Branch Manager for

the last 5 years. His basic salary is Rs. 8,000.

Directions (Questions 9 - 11): In each question below are given two statements followed by two
conclusions numbered | and 1l. You have to take the given two statements to be true even if they seem to
be at variance from commonly known facts. Read the conclusions and then decide which of the given
conclusions logically follows from the two given statements, disregarding commonly known facts.

Mark the answer as

@ if only conclusion I follows ;
(b) if only conclusion Il follows ;
(© if either I or 1l follows ;
(d) if neither I nor 111 follows ;

9. Statements :

Some kites are horses.

All horses are dogs.

Conclusion :

I All teachers are good.
. Some doges are horses.

10. Statements :
All teachers are good.
Some women are teachers.
Conclusions ;
l. All good teachers are women.
1. Some women are good.



11. Statements :
All tigers are ships.
Some ships are cupboards.
Conclusions :

Some tigers are cupboards.
Some cupboards are tigers.

Directions (Questions 12 - 15) : In each question below is given a statement followed by three
assumptions, numbers and the following assumptions, decide which of the assumptions is implicit in the
statement and choose your answer accordingly.

12. Statements : “Fly with us and experience the pleasure of flying” — an advertisement by an airlines.
Assumptions :

More passengers may be attracted to travel by the airline after reading the advertisement.
People generally may prefer an enjoyable flight.
Just having excellent teachers does not ensure sure success.

@ None is implicit
(b) Only I is implicit
(© Only Il is implicit
(d) None of these.
13. Statements : “Join X-tuition classes for sure success. Excellent teaching by excellent teachers is

our strength’ — An advertisement.
Assumptions :

.
1.

1.
(2)
(b)
(c)
(d)

Sure success is desirable

Students expect sure success when they join any tuition class.
Other airlines may not be offering the same facilities.

Only I and Il are implicit

Only Il and 111 are implicit

Only I and I11 are implicit.

Only Il is implicit.

14, Statements : Ravi decided to leave office at 4.00 PM to catch a flight to Bangalore departing at
6.00 PM.

The flight to Bangalore may be delayed.
He may be able to reach the airport well before 6.00 PM.
He may get adequate time to search for a vehicle to go to the airport.

@ None is implicit. (b) Only Il is implicit.
© Only Il and 11 are implicit. (d) All are implicit.
15. Statements : In order to reduce the gap between income and expenditure, the company has decided

to increase the price of its products from the next month.
Assumptions :

.
1.

1.
(2)
©)

The rate will remain more or less same after the increase.

The expenditure will more or less remain the same in the near future.
The rival companies will also increase the price of similar products.
Only I and Il are implicit. (b) Only Il and Il are implicit.
Only 111 is implicit. (d) None of these.

Directions (Questions 16 - 17) : Answer these questions independent of each other.

16. He / She rejected John Llewellyn Rhys award last year. His / Her second novel ‘Transmission’
was released in 2004. Who are we talking about?

(a)
(©)

Salman Rushdie (b) Hari Kunzru
Jhumpa Lahiri (d) Arundhati Roy



17. Match the following :

List | List 11
1. Rakshnda Khan (1) literature
2. Jugraj Singh 2 business
3. Mridula Garg 3) Television
4, Kiran Shaw — Mazumdar 4) Sports
Codes :

A B C D

(a) (1) (2) (3) (4)
(b) (4) (1) (3) (2)
(c) (3) (2) (4) (1)
(d) 3) (4) (1) ()

Directions (Questions 18 - 19) : In each of them following the number series, two terms have been put
within brackets. Mark your answer as

@ if both the bracketed terms are right

(b) if the first bracketed terms is right and second is wrong.
(© if the first bracketed term is wrong and second is right
(© if both the bracketed terms are wrong

18. 3,10, 29. (66), (127), 218
19. 4,7(9), 10, 13, 15, (16), 19
Directions (Questions 20 - 21) : Study the information given below to answer these questions.

In a certain code language :

(A) ‘mxy das zci’ means ‘good little frock’;
(B) ‘jmx cas zci’ means ‘girl behaves good’;
© ‘nug drs cos’ means “‘girl makes mischief,
(D) ‘das ajp cas’ means ‘little girl fell’.

20. Which word in that language stands for ‘frock’?

€)] zCi (b) das

(c) nvg (d) None of these
21. Which of the given statements is superfluous?

(a) A (b) B

(© C (d) D

Directions (Questions 22 - 23) : According to code language, words in column | are given in column II.
Decode the language and choose the correct code for each of the words given in the following questions.
The letters of the words Il need not appear in the same order as they do in column | words.

Column | Column 11
1) CHIEF A) kngqwy
2) NIGHT B) akwjh
3) THIRD C) kvhwg
4) MONEY D) njumz
5) WOMAN E) zcjms
6) WORKS F) ctvzo
7 BASIC G) dtwsq
8) HENRY H) jvunk

9) BASED )] gstnd



22.

23.

10) PSYCO J) qutzb
11) TOWEL K) nzche
12) FALSE 1) ynest
13) DOWRY M) cvguz
14) STOCK N) toghz
15) TRAIN 0) swhvj
AUGUST

(@) hhatdb (b) lIstah
(© altpss (d) nstddz
BOARD

(@) wtvgz (b) ctdzg
(c) sdwqz (d) gzdvs

Directions (Questions 24 - 27) : Read the information given below to answer the following questions.

A Metro line is being laid in a major city. The task requires specialized crane operators for different parts
of the job. The six operators available are Raju, Sohan, Tahir, Uppal, Varun and Wajid. Each phase will
take on e day and will be done by a single operator. No operator will work two days in a row, through each
operator may do more than one phase of the job.

Both Raju and Sohan can handle any phase of the job.

Tahir can work only on days immediately following days on which Sohan has worked.

Uppal can work only on the days that Tahir can.

Varun can work on the third and fifth days of the job.

Waijid can work on the fourth day of the job.

24,

25.

26.

217.

Which of the following is true?

.
1.

I
(@)
)

Raju could do up to three phases of the job.

Sohan could to up to three phases of the job.

Tahir could to no more than two phases of the job

| only (b) Il only

I only (d) All of them

If Sohan works the first day of the job, which of the following is / are true?

.
1.

1.
(2)
)

Only Tahir and Uppal can work on the second day.
Tahir , Uppal or Raju could work on the second day.
Raju, Sohan or Wajid could work on the third day.

I only (b) I only

I only (d) All of them

If Raju works the first day, which of the following is / are true?

.
1.

1l
(@)
)

Sohan must work on the second day.

Sohan cannot work on the third day.

Only Tahir, Uppal or Varun can work on the third day.

I only (b) Il only

Both 1 and I (d) Both I and I11

If Raju works on both the first and third days, which of the following most accurately describes
the possibilities on the fourth day?

(a)
(b)
(©)
(d)

Only Sohan is eligible to work.

Only Raju, Sohan, Tahir or Waijid are eligible to work.
Only Sohan or Wajid are eligible to work.

Only Raju, Sohan or Wajid are eligible to work.

Directions (Questions 28 - 30) : Study the information given below and answer the questions that follow :



A, B, C, D, E and F are cousins. No two cousins are of the same age, but all have birthdays on the

same date. The youngest is 17 years old and the oldest E is 22. F is somewhere between B and D in age. A
is older than B. C is older than D.

28.

29.

30.

Which of the following is not possible?

@ D is 20 years old (b) F is 18 years old

(© F is 19 years old (d) F is 20 years old

Which of the following could be the ages of D and C respectively, if B is 17 years old?
@ 18 and 19 (b) 19 and 21

(© 18 and 20 (d) 18 and 21

Which of the following must be true if exactly two of the cousins are between C and F in age?
@ A is between F and D in age (b) B is 17 years old
(d) B is younger than D (d) F is 18 years old

Directions (Questions 31 - 33) : Read the following information carefully and answer the questions given
below it :

There are five identical looking boxes having different objects in it and every box has a label

indicating their contents. The following is the description of the contents and the label of each box ;

31.

32.

33.

Contents Label
Two Pins PP
Two Balls BB
Two Clips CcC
One Pin and One Clip PC
One Ball and One Clip BC

If the first box, containing the label BC was opened and it was found that one item is a Ball, which
of the following would be definitely true?

@ The other item may either be a Ball or A Clip.

(b) The other box with BB label will contain a Ball and a Clip.

(c) The other item will not be a Ball.

(d) The other item will also be a Ball.

If the information is available that box PC does not contain either any pin or any Clip and box Pp
does not contain any Pin and box CC contains one Clip and one Ball, which of the following will
definitely be true if only one of the remaining boxes is opened

@ It will have one Pin and one Clip (b) It will have at least one Clip.

© It will have to Pins. (d) It will have at least one Pin.

If the box PP contained two Clips, the box CC contained two Pins and the box BB contained at
least one ball, which of the following will definitely not be true?

€)] The box BC contains one Pin and one Clip.

(b) The box BB contains one Ball and one Clip.

(c) The box BC contains two Balls.

(d) The box PC contains two Balls.

Directions (Questions 34 - 36) : The following questions are based on the diagram given below showing
four persons stationed at the for corners of a square piece of plot as shown:



34.

35.

36.

B D

From the original position, B and d move one and a half length of sides clockwise and
anticlockwise respectively. Which one of the following statements is true?

@ B and D are both at the midpoint between A and C.

(b) D is at the midpoint between A and C, and B at the corner originally occupied by C.

(c) B is at the midpoint between A and C, and D at the corner originally occupied by A.

(d) B and D are both at the midpoint between A and D.

From the positions in the original figure, C and A move diagonally to opposite corners and then
one side each clockwise and anticlockwise respectively. B and d move two sides each, clockwise
and anticlockwise respectively. Where is A now?

@ At the north-west corner (b) At the north-east corner

(© At the south-east corner (d) At the south-west corner

From the position in the original figure, C and A move diagonally to opposite corners and then
one side each clockwise and anticlockwise respectively. B and D move two sides each clockwise
and anticlockwise respectively. Who is at the north-west corner?

(a) A (b) B

(© C (d) D

Directions (Questions 37 - 41) : Answer these questions independent of each other.

37.

38.

39.

40.

A meaningful word is made if we take the first, fourth, fifth, seventh, tenth, eleventh and the
twelfth letters of the word ‘CFELICITATIONS’. Which of the following will be the fifth letter of
the word from the right end of that word?

(a) T (b) C

(©) N (d) l

If it is possible to make a meaningful word with the first, the fourth, the seventh and the eleventh
letters of the word “INTERPRETATION’, which one of the following will be the third letter of
that word? If more than one such word can be made, give M as the answer and if no such words
can be made, give X as the answer.

(a) I (b) R

(© T (d) M

A bus starts from city X. The number of women in the bus is half of the number of men. In city
Y, 10 men leave the bus and five women enter. Now, number of men and women is equal. In the
beginning, how many passengers entered the bus?

(@) 15 (b) 30

(c) 36 (d) 45

In a class 20% of the members own only tow cars each and 40% of the remaining members own
only one car each. Which of the following statements is definitely true from the given statements?

@ Only 20% of the total members own three cars each.
(b) 48% of the total members own only one car each.
(© 60% of the total members own at least two cars each.

(d) 80% of the total members own at least one car.



41. In a certain office, % of the workers are women, % of the women are marked and % of the

married women have children. If % of the men are married and % of the married men have

children, what part of workers is without children?

S 4
(a) B (b) 3

11 17
(©) 18 (d) 36

Directions (Questions 42 - 47) : Study the passage given below to answer the questions.

A company “Y” is engaged in the manufacture and selling of instant breakfast foods. It has a long
standing in the consumer market and has captured a good market share of instant packed goods. As the
company enjoys a long standing, and is quality oriented, it has over the years increased its over head
expenses substantially. However, as it has a good market share, it is surviving with good monetary results.
The factory is situated in Jagroaonbad which is very far away from the main consumer market, which is the
country’s capital, and other bigger towns in the vicinity. This distance from the main consumer market
further attributed to higher cost of the product being marketed by company “Y”.

Another company ‘X’ came up a few years back, with its factory situated near Ambalpur, a few
km from the main capital town and other bigger towns in the area. The product being manufactured by this
company was more or less the same in taste, flavour, etc. as that of company “Y’. In view of its proximity
with the consumer cities, the transportation cost being incurred by company ‘X’ is comparatively less.
Furthermore, being a new enterprise, it has controlled over head expenses. With this advantage to its
credit, it priced its product little less than that of company “Y’. It slowly penetrated into the market share
of company “Ys’ business.

The company ‘Y’ is now faced with the problem of competing with this new company ‘X’
without, of course degrading the quality of the product. Company ‘Y’ however cannot reduce the price of
its product as it lowers the image of the company in the market and it will also reduce its profit, to do. The
Chief Executive of the company is now faced with the problem of competing with company “X’ without
lowering the market reputation of his company and influencing profits.

The Chief Executive decided to undertake a detailed market survey and study all types of instant
breakfast foods being marketed in the country. By examining competitors’ products it was revealed that the
product being marketed by company ‘Y’ is of the highest quality, quick consumption items having much
longer shelf life as compared to other products available in the market. This product was packed in then
containers which after consumption of the contents become scrap without any resale value. He, therefore,
decided to make a pre-project study to go in for some different type of packing. The study revealed that
they can either go in high quality and has a longer shelf life, it can withstand climatic conditions in flexi-
packs and thereby drastically reduce expenditure on packaging costs (in tin containers this is nearly 38
percent of the total cost of the product and by going in for flexi-packs, the same can be reduced to nearly 15
percent). The saving made in packaging costs can be released to the consumers by way of reducing the
price of the product and this reduction in price will not lower the image of the company as the price
reduction will be given with the background of change in packaging.

42, Company “Y’, however, cannot reduce the price of its product because
I Of the company’s policy
Il. It lowers its image in the market.
. It will reduce its profit.

(@) I only (b) 111 only
(© I and I only (d) Il and 111 only
43. Selling price of company ‘X’ was lower because

l. Of less transportation costs.



44,

45.

46.

47.

Il. They had less overheads as compared to company “Y’.

Il. The quantity per unit was less than that of their competitors.
@ I only (b) 11 only

(c) I and Il only (d) Il and 111 only

Why did company Y’ go for flexi packs?

l. To be in tune with marketing trends

Il. Easy to handle on filling lines.

. To save on packaging costs.

@ I only (b) I only

(©) I and Il only (d) Il 'and Il only

Saving made in cost of packaging

l. Helped reduce cost of production.

. Helped reduce selling price.

. Allow more production.

@ | only (b) 11 only

(© I and Il only (d) Il and I11 only

Why was the company “Y” selling the same type of product at a higher rate than that of company

X?

I Before company ‘X’ entered the market, company ‘Y enjoyed a monopoly in the market
and took advantage of the same.

Il. As the company ‘Y’ had a long standing, its overhead expenses were comparatively

higher.
. Their total cost of production was higher.
@ I only (b) 11 only
(c) I and Il only (d) I, Il and 111 only

The market survey conducted by company “Y’ revealed that their product was of a high quality,

quick consumption, having longer shelf life. What was the conclusion drawn from the survey?

I Being a quick consumption item, it can have a cheap packaging, as the problem of aging
will not be there.

Il. Longer shelf life shows that the product has durability and therefore can stand for a
longer period in the market without changers in the quality of the product.

. Their product enjoyed better reputation than that of company X.

@ I only (b) 11 only

(c) I and Il only (d) Il and 111 only

Directions (Questions 48 - 51) : Answer these questions independent of each other.

48.

49,

A common belief is that money is the most valuable possession. But for a hardworking persons, it
is his own capability that will support him more than money. Especially in today’s world of
uncertainty about everything, it is one’s capacity that should be the most valued.
The above can be said to be true if which of the following assumptions is made?

€)] A hardworking person is an unusual person.

(b) Money is not really the most valuable thing in life.

(c) The value of one’s own capabilities is so high that it cannot be estimated
(d) A person’s capabilities always helps him out.

The recent turn-around of this business is an example of how a careful management can do
wonders for a company’s profits. The new management has brought the company back to profit
from the loss making position that it had occupied for the previous two years. Which of the
following is flaw in the above reasoning?

@ The turn-around seen by the company may not be sustained for a long period.

(b) The new management alone is seen as responsible for the turn-around.



50.

51.

52.

(c) To be able to attract voters, the people entering public life should make sure that there is
no aspect in the public or professional lives that can be questioned.
(d) People looking for a place in the government should be of sound character.

Three airlines — 1A, JA and SA — operate on the Delhi — Mumbai route. To increase the number of
seats sold, SA reduced its fares and this was emulated by IA and JA immediately. The general
belief was that the volume of air travel between Delhi and Mumbai would increase as a result.
Which of the following, if true, would add credence to the general belief?

@ Increase in profitability of the three airlines.

(b) Extension of the discount scheme to other routes.

(© A study that shows that air travelers in India are price-conscious.

(d) A study that shows that as much as 80% of air travel in India is company-sponsored.

There are fewer copies of this book available for sale than the number of people who want to buy
them. Last week, about 5000 copies were sold while the number of people who had made
bookings for a copy exceeded 20,000.

Which of the following, if true, would strengthen the claim made in the above lines?

@ People who want to buy books are voracious readers.

(b) The number of people wanting to buy a copy of the book has been steadily increasing.
(© The number of books sold this week is greater than last week.

(d) The number of books sold last week equals the number of books available for sale.

Three engineering graduates Paul, George and Pauline joined three firms, which are specializing
in Manufacturing, Software and Pharmaceuticals. They were posted in the Marketing, Finance and
Quality departments. If the person who joined the Manufacturing company is posted in marketing
and George was posted in Quality, what should necessarily be true?

@ If Pauline is working in the Finance department she should be in a Software company.

(b) If George had joined a Software firm then Paul must be working with a Manufacturing
firm.

(© If George is in the Pharmaceutical industry, and Paul is working in Finance, the Pauline
must not have join a Manufacturing firm.

(d) If Pauline is working in the Finance department and the person who joined a Software

company is working with the Quality department then Paul is working in a
Manufacturing industry.

Directions (Questions 52 - 54) : Study the given information and answer the questions.

The table below shows the total number of students who enrolled for five marketing courses over

the last four years in a management institute. Answer the following questions based on the table.

53.

54.

COURSES 1999 | 2000 | 2001 | 2002
Brand Management (BM) 24 29 30 33
Sales Management (SM) 25 30 26 29

Marketing Research (MR) 43 39 38 40
International Marketing (IM) | 29 33 34 32
Consumer Behavior (CB) 21 19 23 24

If it is mandated that a student who wishes to enroll for BM or CB has to take MR, then which
statement is necessarily true?

@ In 1999, only one student must have enrolled for both BM and CB.
(b) In 2001 not more than 7 students could have enrolled both for BM and CB.
(© In 2000 at least 9 student must have enrolled for both BM and CB.
(d) In 2002 not more than 5 students could have enrolled both for BM and CB.

If it mandated that those who enroll for IM should take SM or CB then which of the statement is
necessarily true?



€)] In 1999, the number of students who enrolled for SM, CB and IM is at least 4.

(b) In 2000, the number of students who enrolled for IM and CB and not SN is not more
than 10.

(c) If at least four students who took IM and SM also took CB, the maximum number of
students who took CB but not IM is 17.

(d) In 2002, the number of students who enrolled for SM, CB and IM is at least 3.

55. If the rules of this institute prescribe that a student should take 3 and not more than 3 marketing

area courses to specialize in the marketing steam, which of the following statements cannot be
true?
@ In 1999 all those who took CB also took BM and MR.
(b) In 2000 all those who took BM also took SM and IM.
(c) In 2001 all those who took BM also took MR and M.
(d) All the above.

Directions (Questions 55 - 57 ) : Study the following table, showing monthly sales of cars of five types by
five automobile shops and answer these questions.

Type of Cars Automobile Shops
P Q R S T
A 1250 | 3500 | 1360 | 2240 | 2100
B 2100 | 3080 | 3700 | 4200 | 920
C 3460 | 4400 | 4860 | 4860 | 4760
D 900 | 680 | 700 | 1120 | 600
E 300 | 440 | 1200 | 1250 | 280
56. Which shop has the lowest sales of both type B and type E as compared to other shops?
(a) P (b) Q
(c) R (d) T
57. Which shop has a share of 15% sales of the total of type D sold by all the shops?
(a) P (b) Q
(©) R (d) T
58. Which shop has the highest sale of each of these types?
(a) P (b) Q
(© R (d) None of these

Directions (Questions 58 - 61) : A brief passage is given below which is followed by certain inferences.
Analyze the passage and decide upon the degree of truth or falsity of each inference.

(a)
(b)
(©)
(d)

If the inference is ‘definitely true’.

If the inference is “probably true’.

If the inference is “definitely false’.

If the inference is ‘probably false’ or data given is inadequate.

The average millionaires test scores as students were not good enough for them to get into many
top-notch universities, and once at a university, they didn’t excel. There is no correlation between SAT
scores, grade point average and economic achievement. Millionaires choose careers that match their
abilities. They may not have great analytic intelligence, but hey are creative and practical. They focus on a
goal, take calculated risks and then work harder than most people.

59. SAT scores are a test of one’s intellectual capability.
60. Variables other than intellectual capacity are involved in economic achievement.
61. If one has a good intellectual capacity, then one cannot become a millionaire.

62. Intelligent people do not take calculated risks.



Directions (Questions 62 - 64) : In each question given below a statement followed by three courses of
action numbered I, 1l and Ill. A course of action is a step or administrative decision to be taken for
improvement, follow-up, or further action with regard to the problem, policy etc. On the basis of the
information given in the statement, you have to assume everything in the statement to be true, and decide
which of the three given suggested courses of action logically follows for pursuing.

63. Statement : A Middle class man funds it very difficult nowadays to get his kids admitted to a good
and reputed school because of the costly fee structure and inflation, in general.
Courses of action :

Government should set-up a committee to analyze this problem and come up with the
solution of this problem.

The state governments must ensure that all the railway crossings in India must be
manned.

All the railway crossing should be removed by changing the path of railway tracking.

@ Only I follows (b) Only I1 follows
(© Both I and Il follow (d) Both Il and 111 follow
64. Statement : A truck collided with a train at a railway crossing, due to which all the three people

traveling in the truck were killed.
Course of action :

The watchman must be immediately suspended and sterm action must be taken against
him.

The state governments must ensure that all the railway crossings in India muset be
manned.

All the railway crossing should be removed by changing the path of railway tracks.

@ Only I follows (b) Only Il follows
(c) Both I and 11 follow (d) Both 11 and 111 follow
65. Statement : In spite of the fact that India is the second most populous country in the world, the

Indian football team has not been able to qualify for the FIFA World Cup, since the last 25 years.

(a)
(©)

Government must provide infrastructure for the development of the sport in the country.
Government must set up football academies, ensure the deserving player’s job security
and other needs of the football players.

Government should give rewards to the players who perform well at the international
level.

Only I follows (b) Only Il follows

Only 111 follows (d) All of the above follow

Directions (Questions 65 - 66) : In each of the following questions, choose that set of numbers from the
four alternative sets, that is similar to the given set.

66. Givenset: (8, 3, 2)

(@) (10, 6, 5) (b) (63,8, 3)

(c) (95, 24, 5) (d) (168, 15, 4)
67. Given set : (246, 257, 358)

(@) (145, 235, 325) (b) (143, 253, 246)

(c) (273, 365, 367) (d) (233, 343, 345)

Directions (Questions 67 - 69) : In each of the following questions, four words have been given, out of
which three are alike in some manner and one is different. Choose the odd one.

68. @
(©

Square (b) Rectangle
Triangle (d) Cube



69. €)] Hypothesis (b) Assumption

(c) Observation (d) Experiment
70. @ Crimson (b) Scarlet

(c) Vermillon (d) Red

ANSWERS

1. (d) 13. (c) 25. (@) 37. (b) 49. (a) 61. (d)
2. (b) 14. (c) 26. (d) 38. (d) 50. (c) 62. (c)
3. (o) 15. (d) 27. (c) 39. (d) 51. (c) 63. (b)
4. (a) 16. (c) 28. (d) 40. (b) 52. (d) 64. (b)
5 (d) 17. (d) 29. (b) 41. (c) 53. (¢) 65. (b)
6. (c) 18. (a) 30. (d) 42. (d) 54. (@) 66. (b)
7. (d) 19. (a) 31. (d) 43. (c) 55. (d) 67. ()
8. (b) 20. (d) 32. (d) 44. (b) 56. (d) 68. (d)
9. (b) 21. (¢) 33. (¢) 45. (c) 57. (d) 69. (d)
10. (b) 22. (b) 34. (@) 46. (b) 58. (d) 70. (d)
11. (d) 23. (d) 35. (d) 47. (c) 59. (b)
12. (d) 24. (d) 36. (b) 48. (d) 60. (a)



